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Problem 8.1 Calculate the power (energy per unit timeJt\ransported down the cables of Ex. 7.13 and Prob. 7.62,
assuming the two conductors are held at potential difference V, and carry current | (down one and back up the
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Problem A long solenoid with length L, radius Rand n turns per unit length carries a time- dependent current / (t) in
the d> direction, with di/dt =k, where k is a constant. Using the results obtained in problem 7.15,

- >
. (a) Find the energy density uem and the Poynting vector S& <" - - .dNote especially the direction of S. Check
that Eq. 8.12 is satisfied.
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